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Solution
Solution: — % <x< —1
7T<2—-5x<9 Decimal: —1l4<x< —1
Interval Notation: (—%, — 1)
Steps
7T<2—-5x<9
(7<2-5x) and (2—5x<9)
Solve 7<2—5x: x< —1 Hide Steps @
7<2-—5x
Switch sides
2—5x>7

Subtract 2 from both sides
2—5x—2>7-2

Simplify
—bx>5

Multiply both sides by -1 (reverse the inequality)
(—5x)(-1) <5(-1)

Simplify
ox < —H

Divide both sides by 5

5x —5
5 <75
Simplify

x< —1

Hide Steps &@
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Solve 2 —5x<9: x> —

(SN

2—5x<9

Subtract 2 from both sides
2—bx—2<9-2

Simplify
—bx <7

Multiply both sides by -1 (reverse the inequality)
(=5x) (1) >7(-1)

Simplify
bx > —7

Divide both sides by 5

5x —7
5> 5

Simplify

_T
x> R

(x< —1) and (x> —

)

(SEN

Combine the ranges

—%<x< —1

Number Line
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Graph
Plottin - —
g 5 <x< —1
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